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(i) 3G Y97 9T HI T YFT, Y7 37 3K YFT &, § Fier T & | 39H 3 Ir & g &
I forad & 1

(i) @4t yeT SAarE & /

(iii) QI¥T-97 G 1551 397 & FIE 997 919 787 & |

(iv)  T9H YIT 37 3K Y71 & & TH Fe9] & I GIF-JIF 9T & IR T forgd & |

W) HTHFYTGET1 83 3 I TH-UF 3H & & | 379 I Uk Jeq IH9d] Uk
FFTH I/

(i) YT HF FFT LI 4 T 6 P 97 51-31 Al & & | 399 I T 30 Vgl 7 37
g1

(vii) N7 3T & Y97 G&IT 7 G 18 & ¥¥7 -7 Hl & 8 | 399 I TTHT 50 Vgl 7
G &1

(viil) 97T 37 & Y97 G&IT 19 T 24 3 F97 Gi9-Ti9 37H] & 3 | 379 I TTHT 70 9155 7
G &1

(ix) 97T § % 397 &7 25 T 33 3 Fo JANIHF FIA T ARG Tglahetd 5o7 & |
% Y97 U 3F H1 & | U T IR fadbeql § @ 379l FIT U qad I9PE
fasey 7T 8 |

(x) U § & J97 G&IT 34 T 36 P I FINTIcHS HIVIcT W HTERT 31-31 37h1 & Fo7
gl Imarmaai s

General Instructions :

(1) The question paper comprises two sections, A and B. You are to attempt both
the sections.

(it)  All questions are compulsory.

(iit)  There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted
separately.

(v)  Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These are to
be answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to
be answered in about 70 words each.

(ix)  Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one
most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.
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SECTION A
39 FHS S o UEe &l Fadl o TU-g3 ARy fEeh JhriicTs g
SCc=01%1 1
~

Write the molecular formula of the first two members of the homologous

series having functional group >C = 0.

fS= ford hgd @ 2 A 91T & IR o fordg w1 | I8 foham it B 2 1
What is fertilisation ? Where does it occur in a human female ?
Toreht TTftas < ToRvdl Q1 oToIa Teehi ohl g SHTST | 1

List any two abiotic components of an ecosystem.

fFefefiad 3@ i 79 ITL-GfEehl T Eiaent afda foRToT ST 991 SISy |
39 TG T AT IV (£ i) TR T BT (£ r) 9t Al T | 2

Redraw the following diagram on your answer-sheet and show the path of
the reflected ray. Also mark the angle of incidence (£ i) and the angle of
reflection (£ r) on the diagram.

UH %3 4 3T ST ek gRI 9iaRur IR fefies fashme & = dqad
1 @ AR S gt W Sfat K ffde sawiifaar § @8 7@ | 2
Suggest any two ways by which the balance between the environment

and industrial development is maintained so as to help undisturbed
survival of the organisms on the Earth.
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AN o¥ H al AR foh TR “Fauenl AqieM IR 83T ? 3=ia: 39
ATl g0 TR AT ol Tord Tehr v firet 2

Where and how did “Chipko Andolan” start in our country ? How did this
movement ultimately benefit the local people ?

T <d §U AT hHISC foh THT /T & o e 9 @ C4+ G &1 Hehell 3
3R T & C4~ RO 1 Tohell 7, T I8 FgaAISt AMfieh SH1GT 8 i foed <6
FHATAh BId @ AR SFRT FT ToHTeh 3IR e FeeHTeh 8ial @ |

Explain, giving reason, why carbon neither forms C* cations nor

c4- anions, but forms covalent compounds which are bad conductors of
electricity and have low melting point and low boiling point.

BIEGIhEA 91 & ? (1) | BEgiehled, 3R (i) THJe TSGR hl HH
T3 fIRau T Teh YR o Teh FISGIhIEH ohl T QT |

What are hydrocarbons ? Write the general formula of (i) saturated
hydrocarbons, and (ii) unsaturated hydrocarbons and draw the structure
of one hydrocarbon of each type.

forel otmad aroft ® awal o affeRtel o folu qRATY] geaw <hl qoil § ORETT]
AT i M ITYH T F1 HAT AT 8 ? 3NY(eh 3mad aroft | (1) fopeht
AT § &€ TR | TR 3R 9H W, 3R (i) FFef o8 § 3 & = 97 =
Al ot uifeash @0 fohE TehR aEfdd BT 2 2 319 ITRI St HRoT A gfse
HIT |

Why is atomic number considered to be a more appropriate parameter
than atomic mass for the classification of elements in a periodic table ?
How does the metallic character of elements vary as we move (i) from left
to right in a period, and (ii) top to bottom in a group in the modern
periodic table ? Give reasons to justify your answers.

Terelt aar <l TRmTY] WEA 127 |
(a) 39 a7 ol So(eh fo=ame forgent s9eh! Tastehar faifa Hifse |

(b) I IE O Ca (WWHTY] TE&AT 20) | At Afufshamsfiicr 8 s1eram <»d
rfiyfspamsiiar 8 2 3199 SR Y gfee e T Hifv |

(c) oI g a0 ©Tq 3 31T 34T ?
(d) 39T o AFAES Hl g & |
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The atomic number of an element is 12.

(a)  Write its electronic configuration and determine its valency.

(b) Is it more reactive or less reactive than Ca (atomic number 20) ?
Justify your answer giving reason.

(e) Is it a metal or a non-metal ?

(d) Write the formula of its oxide.

11.  &HIRT Wi o &1 TN o6 A fAfay | 3 Th-gat § fhE TR B 2 @ 2
S o 39 YR w1 M fafgy fred 3 gfmfd g9 8 | 39 YR o SHA
oy fafau | 3

Name the two types of mammalian gametes. How are these different
from each other ? Name the type of reproduction they are involved in.
Write the advantage of this type of reproduction.

12. Shet ® fafimar foem goer 3cag gidl 8 2 “Raftmar wfisiis hi saesiifadar s
@ T Iwf 7 1”7 39 e <t gfsd fopelt Igreer St wEmmEr @ Hifu | 3

How do variations arise in organisms ? “Variation is useful for the
survival of species.” Justify this statement with the help of an example.

13. MUY #0172 TRl o faltmi & am fafew | s fafe @ Swm fomedt
IRER & W@ IR §fg ol TI§ 9 9 fhd TR wwifad s & ? frel
T forgai &1 oo T | 3

What is contraception ? Name any two methods. How does the use of
these methods have a direct effect on the health and prosperity of a
family ? State any three points.

14. Tt 75 wiefis < 3gwa # were foheal i Sehi &l F RT3 T
i yfiert o1 39 fowa # 3g@ il | 3

List any three factors and mention how they could lead to the rise of a
new species.

15. Sameg w1 8 23 A9 foeem & fou fora yoer g9 & &9 # v o 8 2 3

What are fossils ? How do they act as an evidence for organic evolution ?

31/2/3 5 P.T.O.
Downl oaded From : http://cbseportal .conf Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal . conl

16.

17.

18.

31/2/3

[ CBSE

foreht /@ g o widfera w1 eaedq — 1 7 | 9f¢ fora o fafers o s ol
T 60 cm 2, A fora 1 W % TR Heg F gl w0 R 2 W W B WH(A
SR B8 g Fd HIN | G T &I 18 % TR g hl AR 20 cm
TYMTANG fopan STQ, a1 Sfdfers gl = 37X $8eh! Jehfd 1 Bhf ? 379 I
£1 9fez % for fopor s it |

The magnification of an image formed by a lens is — 1. If the distance
between the object and its image is 60 cm, what is the distance of the
object from the optical centre of the lens ? Find the nature and focal
length of the lens. If the object is displaced 20 cm towards the optical
centre of the lens, where would the image be formed and what would be
its nature ? Draw a ray diagram to justify your answer.

TSl o TehIUM Shi TREEHT 1 IUINT hich TS hifve foh FTET 3N It
g g & auf § A FA Tt BT 8 |
Using the phenomenon of scattering of light, explain why there is a

difference in the colour of the sun as it appears during sunrise and at
noon.

IRl TSt i Ted & I8 | off fF wal & W (@) 9t & fou e

WA Bd 8 | U T 3 u=m-ud § 98 dgl foh a9 0 3ueiey $9

SUEl & ®al b W H $S T o NSHATA UTT MY | T8 AR I8 SATHA &l

TE, Fifeh digehTeft gAR Tareey o foru gifaem g1d & |

(a) 39 3O ATATSH 1 BT REHATRET GRI HAl < TET 1 HGfod HEAT
for eRR TmEdT 2

(b) g hgl AT B foh Ig FIeRt digehTelt R 31T o7 Sfal o IR o
YA ek A Bld 91 2 3R U Hiur 4 3ifees g1 W gar S
HAEd e BH Ugad & | 38 GREeAT &1 W HR 39 fowy H
fetfaT |

Your mother always thought that fruit juices are very healthy for

everyone. One day she read in the newspaper that some brands of fruit

juices in the market have been found to contain certain level of pesticides
in them. She got worried as pesticides are injurious to our health.

(a) How would you explain to your mother about fruit juices getting
contaminated with pesticides ?

(b) It is said that when these harmful pesticides enter our body as well
as in the bodies of other organisms they get accumulated and
beyond a limit cause harm and damage to our organs. Name the
phenomenon and write about it.
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19. 9wy 1 8ld § ? SHawd fhd TR §9d & S 3Rl 1Y w1 el 1oy
TehT ToharT SITT B 2 91 faehma & 1= | SfaTedi o T i Seoi@ Hhite | 5

What are fossils ? How are fossils formed and how is their age
determined ? State the importance of fossils in the study of evolution.

20. THfert AR IwAfT i 1 Teh-Teh ITET AT | goa1 | B a1l T h
Tl YRR o st faued hINTT | 991 BIaT 8 STd hig WATehUT fohel! IUTh dfcishtil
T UG AT 8 ? AU H 1Sl (07 qeh B Arelt geel o 9N H faRae | 5
Give one example each of unisexual and bisexual flowers. Differentiate
between the two types of pollination that occur in flowers. What happens
when a pollen lands on a suitable stigma ? Write about the events that
occur till the seed formation in the ovary.

21. TUEX 9 8Id & ? T&U bl fohd YohR SR ST & 2 B orat Afufsean v
e Tl ffau | = BT 8 9 s Ut Eifsad BIsgieETss o a1y
rffshan st 8 2 39 ATk o1 TETfe dHiehtor, 19 3R 39 fafET | 5
What are esters ? How are esters prepared ? Write the chemical equation
for the reaction involved. What happens when an ester reacts with
sodium hydroxide ? Write the chemical equation for the reaction and also
state the name and use of this reaction.

22. (a) HFAd AT & F=fafga y@s am w1+ fafgu .

(i) oI

(i)  gRdTiER

(i) foreeetta (erfimm) <im
(v) gt ufsmt

(v) e

(b) I3 A 1 m & FA g W e forali 1 v T2 ¢@ aren | 9 form
g QW @ difed 2 2 39 g QY 1 HROT 3R I9YH 8GRI TEH
TG g9 o Tog fertor @ wifem | 5
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(a)  Write the functions of each of the following parts of the human eye :

(1) Cornea

(i)  Iris

(i1i)  Crystalline (Eye) lens

(iv)  Ciliary muscles

(v) Retina

(b) A person is unable to see distinctly the objects closer than 1 m.
Name the defect of vision he is suffering from. Draw ray diagrams

to illustrate the cause of the defect and its correction by suitable

lens.

23. 3T ©¥ % TR § foragh
fFafafga Jeor ariferert =1 favamor Fifsie st gfiered fore fomm & FAeafeafea
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() o @1 Sffera-gll (v) o for=wor 1 guri areft

T & I arﬁ%ﬂ :
wa | famg | ffeag
e u (cm) v (cm)
1 - 60 + 12
2 - 30 + 15
3 - 20 + 20
4 - 15 + 30
5 -12 + 60
6 -9 + 90

(a) 3T ¥ ! BlhE gl foheHT B 2 319 I o forg swwer e |

b) a7 foragll (w T Fifm feeht aeredt sfaferaght (v a8 78 2 | 78

s e fopg g fehTet 2

(c) I3 it IWYH AT HHHL J&0 T 4 & oI fopor em@ Eifeu ik
ST T AT T TG T |
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Analyse the following observation table showing variation ot
image-distance (v) with object-distance (u) in case of a convex lens and
answer the questions that follow without doing any calculations :

3. No. Object-Distance | Image-Distance

u (cm) v (cm)

1 - 60 +12

2 - 30 +15

3 -20 + 20

4 - 15 + 30

5 -12 + 60

6 -9 + 90

(a)  What is the focal length of the convex lens ? State reason for your
answer.

(b)  For what object-distance (u) is the corresponding image-distance (v)
not correct ? How did you arrive at this conclusion ?

(c) Choose an appropriate scale to draw a ray diagram for the
observation at S.No. 4 and find the approximate value of
magnification.

24. (a) Tl gdul & ded # Fefefad ugh <t it i

(1) gd
(i)  Shal ohwg
(i)  Sshel Brs
(iv) H&T &

(b) (i) 3TadA TYU, 3R (i) IAA UV o GE&I HIhd i W o T fortor
M@ T |

(¢ TmfaRed sm@ #, MM’ 13 31gqd guul g aa1 AB IS fora g | 59
fora &1 yfdfors 591 q@ia & fofe ot Sgfeas W fomor sm@
Hifem | 5

W >

=Rl NSRS
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Define the following terms in the context of spherical mirrors :-
1) Pole

(ii))  Centre of curvature

(iii)  Radius of curvature

(iv)  Principal axis

Draw ray diagrams to show the principal focus of (i) a concave
mirror, and (i1) a convex mirror.

In the following diagram, MM is a concave mirror and AB is an
object. Draw on your answer-sheet a ray diagram to show the
formation of image of this object.

M
by
C F B E
o
g g
SECTION B
25. fo=faRaa sm@ o S & HIv &l 3fkd fopr T 8 2 1

(A)
(®)

31/2/3

auft (B) hdd /iR LA

/i, /T3 LA D) Zi,ZAIW /D

10
Downl oaded From : http://cbseportal .conf Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

CBSE

Downl oaded From : http://cbseportal.conl S
In the following diagram, the correctly marked angles are ' '

(A Al (B) OnlysZiand LA

(C) Zi,ZLrand LA D) ZLi,ZAand ZD

26. V9 9 TRl ITA W8 G T Y a9, el TRl e & TS 7, %
gfdfers sl 9¢ T HIhEd Hd 8, a1 9¢ T Tfifers 6l AThfd hell @ <l

27 1
AN
NV \14
(A) B)
(C) (D)
AL /AN
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When you focus the image of a distant flag, whose shape is given below,

on a screen using a convex lens, the shape of the image as it appears on

the screen is

(A)

(9

(B)

(D)
AN AN

27. et B &I HI3 THIREH Ik @ T8 2 f@eh! wiew gl 98 gd & wfdfers
T 1 E TR | 3™ gRE W 24 om g R O G W BB ek AG BT
2 | 39 Ik & SR § FE HAH g |

(A)
(B)
©)
(D)

12cmqﬁwaﬁwm‘czq‘w
240mW@$TWﬁH
24 cm HIhE gl T Faad guvl
120mW@WWﬁH

An optical device has been given to a student and he determines its focal

length by focusing the image of the sun on a screen placed 24 cm from

the device on the same side as the sun. Select the correct statement about

the device.

(A) Convex mirror of focal length 12 cm
(B)  Convex lens of focal length 24 cm
(C)  Concave mirror of focal length 24 cm
(D)  Convex lens of focal length 12 cm

31/2/3
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28. WA % TId ¥ TERA dTelt Tehrer fohtur o1 9o sTRfEd o @ fore fm=femea o

T Faay Y Sael T 1
I 11 III v

A I

B) II

(C) II

D) 1V

Select from the following the best experimental set-up for tracing the
path of a ray of light through a glass slab :

TN

I II 111 Y
A 1
B) I
(C) 1III
(D) 1V

29. TR TAFTRIET H AR A S h fT¢ gl T 7 | Fefafgd davn o 98
H ¥ 39 98 ! gHe, feeh feet ot t oaur &t o oTd S § iRt
IR el ITd L Tehd & | 1

(A) NaCl; NaySO; KCI
(B) NaCl; CaCly; KCI

(C) CaCly; CaSO4; MgSO4
(D) NayS0y4; CaSOy4; MgSOy4

31/2/3 13 P.T.O.
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You are asked to prepare hard water in your laboratory. Select a group
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from the following groups of salts, any salt of which you may dissolve in
distilled water to obtain hard water.

(A) NaCl; NaySOy4; KC1

(B) NaCl; CaCly; KCI

(C) CaCly; CaSO4 MgSOy4

(D) NaySOy4; CaSOy4; MgSOy

30. 3fg o1y forelt TEeht O $® g a1 ool IWH TUE T § UHifew s
fiemd ok fist 3@ fosmor o6t wefi-wifa feemd ofit 3o w9 & fow 38 gweAe
Tvg W oA faemmu-gamme @ <, af T 5 fiee warq 31 I S it ? 1

(A) UHifew e <l W W A W |

(B) IS YI&T W@l hl defl W 93 T 8 |

(C) WGl ¥ TEH 19 & gagd e ©@ & |

(D) YEA! § =0, TeH IReRfl foeed o9 T 8 |

If you take some distilled water in a test-tube, add an equal amount of
acetic acid to it, shake the test-tube well and leave it undisturbed on the
test-tube stand, then after about 5 minutes, what would you observe ?

(A) There is a layer of water over the layer of acetic acid.

(B) A precipitate is settling at the bottom of the test-tube.

(C)  Bubbles of colourless gas are coming out of the test-tube.

(D) There is a clear, colourless transparent solution in the test-tube.

31. TfaRaa armfl o Tg== § & fohdent SURINT A19H 9 | foha ST &ha1 8 2 1
(A) " F I N Hicwm gEeiFEEe
(B) TS &I ad IR HIfSIH TS
(C) WS a1 IR difsaH gEgiadss
(D) = a3 AfifRm wEgieEEs
Which one of the following sets of materials can be used to prepare soap ?
(A) Neem oil and calcium hydroxide
(B)  Castor oil and sodium hydroxide

(C)  Mineral oil and sodium hydroxide
(D) Neem oil and magnesium hydroxide

31/2/3 14
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32. Wﬁﬂ‘gﬁ?ﬁﬂ%%%@ﬁﬂﬁf@ﬁ%ﬁﬁﬁgﬁ%w@ﬁﬁgqu 1

I. Sk hHIRTERT a1 AT ARk Fafd IR # fawrfaa gidt 8 3 I8l
Sk <Rl 31{Eecd THTT &1 14T & |

II. 399 Sffepd Shrgeh o1 1 ATYh Fafd shrgehl | fawTiord g 2 |
III. % 9 oh fohell TR & H I3 Jobdd IHAAT 7 |
IV. S % 8 3T 8H % 999Tq Gohel Y01 fIehfad BIeht 71 Taa Sia 4

ST ® |
(A)  Had I (B)  <had III
(C)  <had II 3T III (D)  ohad III 3R IV

Choose the correct statement(s) on budding in yeast from the following :

L A parent cell divides into two or more daughter cells and here the
parent identity is lost.

I1. In this the elongated nucleus divides to form two or more daughter
nuclei.

III. A bud arises from a particular region on a parent body.

IV.  After detaching from the parent body the bud grows into a new
independent individual.

(A) Tonly (B) III only
(C) 1II and III only (D) III and IV only

[ N e N aN

33. fTmafcifga & @ gusa o7 w1 ag= gHT 1
(A) THEE % Wg 3R fadell & g
(B) e o U@ AN IHCE & 9@
(C) faach & 9@ MR Ham & 1@
(D) e @ 3TUUTE, TN & IR 3N fBushdell & mure

Select a set of homologous organs from the following :
(A)  Wings of a bat and wings of a butterfly

(B) Wings of a pigeon and wings of a bat

(C)  Wings of a butterfly and wings of a pigeon

(D)  Forelimbs of a duck, forelimbs of a cow and forelimbs of a lizard

31/2/3 15 P.T.O.
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34. AUl ‘T W SISk YU o Al qET A ggEE HwET H T HET R
3Tk g IAUATS ST STt TshaT T U <hIfTT | 2

You have to perform the experiment, “To identify the different parts of an

embryo of a gram seed.” Describe the procedure that you would follow.

85. hid & SRR TAd W 45° o HIU G fdd Jehre fortor 1 g 3Rfgd
FIT | rada w1, ffa S 3R e ¥ 9 | oo § g1 are Jifvess
oo <ht 119 fafigu | 2

Trace the path of a ray of light incident at an angle of 45° on a
rectangular glass slab. Write the measure of the angle of refraction, the
angle of emergence and the lateral displacement suffered by the ray as it
passes through the slab.

36. (A) I ey THifew o & fferfaa gt et & Jeont f fard foam
& foTu gt S, ot 31 o= foe 2

(1) Y
(i)  fofena @ v

(B) g AU Ush WEAeH § Ueh Tohl HITSTH FIEGNH HlAMHS TIPS bt
3IGH Sc5g Hh UHIH ITFA SIat, dl AT G & FT UFW HAT ?
forgl 31 g Jeruit <t gt sHT3T | 2

(A) If you are asked to report your observations about the following
two properties of acetic acid, what would you report ?

(1) Odour

(11) Effect on litmus

(B) If you take a pinch of sodium hydrogen carbonate powder in a
test-tube and add drop-by-drop acetic acid to it, what would you
observe immediately ? List any two main observations.
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